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Topic:- Fundamentals of Computers

1) Which of the network topology satisfies the following given statements?
Each computer is connected to a hub.

The hub is the signal repeater.

Itis the most common topology in home and office networks.

N I T S5 R

The failure of the hub causes the entire network to collapse.

/ Bi €1 wcad el fFa BT IR duel & 9d5e Sl 57
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1. Ring Acul
2. Star / ICR
3. Mesh / HSI

4, Bus / dY

Correct Answer :-

e Star /¥R

2) Centralised computers which is used for running major applications like financial transaction,
processing and enterprise resource planning in large business organisations are: / E%' TR TRITL

¥ fasita siaron, fparaa 3R enenfire Garem &1 g & Ao S weayf orf & e
WY P SR B &

1. Special purpose computers /faRky \5%-‘24 ara Obu-cl\(‘.{
o (2)




2. Mainframe computers / HIH HCR

3. Supercomputers / IR HHEI
4. Hybrid computers / HEES W
Correct Answer :-

¢ Mainframe computers / B PR

3) Which of the layers of OSI Reference model is NOT present as a separate layer in the TCP/IP
Reference model for communication networks? / ¥R Acd® & ﬁ’l’l!,' TCP/IP YB3 HISH A OSI YHIH
HISH BT B AT WR TP A WK P U | USRI 181 g1 82

1. Network / Hcad

2. Transport / ETQTCh-c;

3. Session / Y=

4. Application / W

Correct Answer :-

« Session / ITH

4) How will binary number 111111 be represented in decimal, hex and octal formats? / fPauerR

ST TR=AT 111111 DT T, 35 3R 3ifded # F=fua fvam smeam?
1. 62; 4F; 57
2. 63; 3F; 77
3. 65; 5F; 87

4. 64; 2F; 67

Correct Answer :-

e 63;3F; 77

5) In 8-bit ASCII, what is the number of values that ASCII has the ability to store? / 8-fae Ascrn ﬁ,

ASCII §RT ATHI &Y fHa-il T &) IR HI B &Tdr gl 82
1.255
2,127
3. 256

4. 128



Correct Answer :-

6) Machine language is also called as: / =i v 31 g8 W weT ST %:
1. High level programming language / 3=l TR T HTe

2. First generation language / UUYH SRR YT

3. Opcode / AHTPpIS

4. Compiler / SJHYDH

Correct Answer :-
« First generation language / YIH SR HIST

7) The scheduling algorithm where the CPU executes the process for a specific time slice or time

quantum is called 5 /agﬁsq%ﬂﬁﬁﬁﬁmm CPU Tt W uwa | -1 T grur
YT T THY & RAQ srffsparaii o1 HaraT e g, Hoarar gl

1. Shortest Job First Scheduling Algorithm / e Sl e ] Eﬂi%’l‘ YR
2. Round Robin Scheduling Algorithm / J3S RIEE] @@Eﬂ?‘lﬂ Q@I Ry
3. Priority Scheduling Algorithm / cnsa' Rel ﬁ@qﬁ‘—m YRR

4, First Come First Served Scheduling Algorithm / Th & Thic Hos, RISY[eiTT TS NR

Correct Answer :-

« Round Robin Scheduling Algorithm / I3S NI @@‘Eﬂ%ﬂ’[ TR

8) A high speed memory location for holding intermediate results produced by Arithmetic and Logic

Units in a processor is called ./ TP TR | H@ﬁﬁ@?ﬁ‘fmqﬁ?mm
ATl GRUTHT o ¥EH & forg 318 wits A8l aiew Hgardi gl

1. Memory Buffer Register / TR TR TR
2. Memory Data Register / TARY SeT Ioex

3. Accumulator / QWET

4. Program Counter / T HTdeR

Correct Answer :-

« Accumulator / QWET



9) Internal process memory is characterised by: / Eﬁﬁﬁ T AR &1 ﬁ&ﬁu?mz %

1. Low cost, high speed and high capacity / g «Ta, 3= Tid 3R 3 &

2. Low cost, slow speed and high capacity / ®H ¢il¥Id, el TIfa 3R S e

3. Medium cost, medium speed and medium capacity / H&H <IN Id, HEH TS 3R T &

4. High cost, high speed and low capacity / 3 ARId, 3 Tfd 3R 19 e

Correct Answer :-

« High cost, high speed and low capacity / 3= AT, 3 TIfdl 3R g e

10) PDP-8 belongs to which one of the following generation of computers? / PDP-8, P 31 fog

SRR & T 82

1. Third generation / J1d SRR

2. Mechanical generation / AT SRR
3. Second generation / TgdIa SRR

4. First generation / UYJH SRR

Correct Answer :-

« Second generation / Tgaiid SFRRM

11) An example of a utility software is: /m v‘fqeawmwmw%
1. Assembler / DISARPB

2. Disk Defragmenter / o felrmier

3. Windows 7 / TSIl 7

4. n-Vidia Graphics Driver / TH-aifsar uifth b [SIECH

Correct Answer :-

« Disk Defragmenter / [&3® fethex

12) is a unidirectional bus that is used for transferring memory locations from processor
to memory. / T Uiy a9 § ot SuahT auR ) fRufa & A 9 amf &
RIFTROT & forg fpar S 31

1. Control bus / HEIdl o

2. Information bus / W\Iﬁﬂq GRS



3. Data bus / ScCl &

4, Address bus / Qgﬂ R}

Correct Answer :-

« Address bus / Ug9 &

13) Malware that threatens to publish sensitive data and/or blocks access to the system until money is

paid is called ./ FATATR, Sifd ST a9 UG ST YT 7 - T oI, Saxas Sel Hi
WW&G{WW&%WﬁRWﬁWWWW% _ wgamargl
1. Worrn/aﬁ

2. Trojan Horse / T 819
3. Ransomware / STHATR

4, Virus / dIAXY

Correct Answer :-

¢ Ransomware / W

14) Storage systems that use Curie temperature for phase transition of magnetic to paramagnetic

material for recording data are called ./ RS e oY SeT Rpis o1 & g W’q
%aﬁaﬁmﬁuwﬁﬁmw%maq&mmmmﬁﬂm%%

1. Solid state storage devices / bﬁﬂ fa ot Eﬁﬁf %TJHW
2. Magnetic disks /ﬂ'@aﬁq &

3. Magneto-optical disks / W—W’Qﬁq 5552

4. Optical disks / UBTRI f&¥h

Correct Answer :-

« Magneto-optical disks / JaD-HDHTRIY f&Ten

15) The problem of unused and unallocated memory blocks which are too small and not
contiguous to accommodate a segment can be resolved by dividing memory into blocks of

equal size is called . / 3G TUT TIPS AR & chsl & THRT BT
THTYT, St {5 95 Bie § 3l Iic garivH ¥ aig g 8, B B A PR & ghe! o
g o3& fvar o1 aoar €, g8 ufpar P gl

1. Memory paging / THRY UfSfT
2. Memory swapping / TR TfthT




3. Memory partition / HHIRT TdHISIT
4. Memory fragmentation / AR TR

Correct Answer :-

e Memory paging / THRY UfofT

Topic:- Operating System

1) In Windows 7 (and above), what are the long running executable applications that operate in the
background in their own Windows sessions, which can be automatically started when the computer boots,

paused and restarted and do not show any User Interface? / fasier7 (\"rﬁ?' sﬂ'\ﬁwaﬂﬁsﬁm ﬁ,%r
P A A9 THY T I H d1d TFRTRE H1 91d TSR & Sl 304 T & fieier a=ig o
IFASS | SATIRT HI4 & Sl HFYER & g 8, Uit 811 a1 R 811 & qHa, Taa: WIE &) T&hd &
3R PIS TR §eBH 81 USRI Hd 82

1. Resource Monitor / ﬁ@ﬁ FIVIIEIE?
2. Services / gfaTgl

3. Task Manager / CIXh AoR

4. User Account Manager / JGIX JHIIC FAOR

Correct Answer :-

¢ Services / m\_ﬂ

2) In Windows 7, what is the rich text editor that comes as one of the “Windows accessories’ tool where

you can format and print text? / fadsisr 7 ﬁ,ﬁ@ﬁmﬁmﬁwmmﬁq
1§ OrId gRT 3y e $i wide a1 file = a%d §2

1. MS Word / THUY-IS

2. Notepad++/ AcUS++
3. Notepad / Arets
4. WordPad / ISUS

Correct Answer :-

e WordPad / a@fa_é

3) In Windows OS, how do you change the resolution of the display? /ﬁ%ﬁ'ﬁ-m ﬁ, 3y fsod &

ReiegRE B 2 e



Right click Desktop
= 5Select Display Settings

= (Change Resolution

| FFed WX Use Toeld ok
2> T3Eer ATE ol Tl hell

>Ntegqee aRafdd e

Select Task Manager

= Select Display Settings

= Change Resolution

| TR HoelY & Tolde Tk
57 ]

> Rategee aRafdd wer

Select Device Manager
= Select Display Settings

= Change Resolution

/ f3arsg Hee T I I

> fSTeer Hicar Tefee el

> Regere aRafdd e

(8)



Right click clock symbol in icon tray
= Select Display Settings

= Change Resolution

! 3EHIT ¢ T VR T8 T AHhd R Isc Feldh Ik
> 3Tl AT i Aekre Hell

> TelTegert INafid axer

Correct Answer :-

Right click Desktop
= Select Display Settings

= (Change Resolution

| e OX Use fFold Tieh
2> Ercer AT &l Tolde i

> Reltegere IRaicd e

4) In Windows OS (version 7 and above), which option gives the ability to use assistive technologies to
enable people with disabilities to interact with the system and perform regular computing tasks? /

3T (@i 7 3R SR TG F, P A1 Rped A TeTaD aH=d TRAHTE B I &1 T 3,
e o 3t Ried | Fe¥ae H31 94T Fer R Fafia @ &0 o1 & 9 9960 82

1. Network Firewall / “¢dd lRIRATA

2. Windows Defender / ﬁ?ﬁﬁ‘f fSthex

3. Ease of Access Center / {1TH QGRTN-I e

4. User Account Control / JuR 3[BT3C OI’)Q-\IQ'l

Correct Answer :-

» FEase of Access Center / JiTH TR TR



5) Which one of the following special variables in Linux indicates the number of arguments supplied to a

seript? / AT § a8 &1 91 ARy aftwaa @) 7 < farsht fpe A Twars e e v #t
=T P gRITaT 82

1. §0
2. §*
3. 5%

4, $#

Correct Answer :-

6) Which of the following is NOT a default folder in Windows OS 72 / fdSiwi-8ieq 7 ¥, fg A G &9

1 U f¥wiee wics? =181 g1 82
1. Trash / EQT

2. Downloads / G'm?ﬁ?:ﬁ

3. Desktop / e

4. My Documents / Iﬂé B}I,Tﬁ@?

Correct Answer :-

e Trash/ %\QT

7) What is the first process that the computer undergoes when booting? / ﬁﬁ'ﬂ & qUg R o gfeq

B aTelt ugeh withar T 32

1. Kernel Loading process / P Al Uik

2. Power On Self-Test (POST) / TloR 39 - (Ch@
3. Start-up Process / CTC-310 Uik

4. Logon Process / 11T 3119 UfehdT

Correct Answer :-

« Power On Self-Test (POST) / JiaR 319 A0 (CﬁE')

8) In Linux — Bash, which operator is used to join the standard output of the first command to the
standard input of the second command? / foreg - 9= ﬁ:, w PHIS BT SS 313cYc, @'\ﬂ' HHIS
F WSS 3YC A Siteq F fore fhw sifuves &1 IuahT giar 22

(10)



1. #
2.
3.%

4. %

Correct Answer :-

9) In Linux — Bash,which command sends a signal (software interrupt) to processes? / o a=r A

S I HHIS Ufharsil ®1 TP Rud @TrRedR sevw) dedl 82
1. ‘interrupt’

2. ‘kill’

3. ‘proc’

4. ‘signal’

Correct Answer :-

10) In MS-DOS, what does the command XCOPY do? / MS-DOS H HHIS XCOPY BT Capkes)| %?

1. Copies multiple files, directories, or drives from one location to another. / ﬁ Wﬁ?ﬁ, ﬁﬁ@f Y4l W
DI T Y TP SHIE H G-I 518 WR DIUT DHHAT|

2. Cuts the files from one folder and pastes it to another. / frdt mie igdd P HE PP Qﬂﬂ SR e
hHAT|

3. It is the command used to copy admin files. / g QEF&FT tb—lgﬂ-)f Pl HIU B B f%fq Ugdd Eﬂef Tl HHIS
gl

4. Clears the files in the destination folder and pastes the copied files or folders. / SRR Wit ¥ RIEISS|

P BTPHR HIUT Bl TR BT TN ThIeS ) Dl Tg] U BT

Correct Answer :-

« Copies multiple files, directories, or drives from one location to another. /ﬁ Uﬂ%?ﬁ, ﬁl?iltﬁ SYdf Cf{lﬁaﬁ
DI Th 1Y T S8 Y GO TG TR DUl HAT|

11) In MS DOS, which of the following is used to display the contents of a text file? / MS-DOS ﬁ, Udp

TRT BIgd B! AT B UeRRid $31 & forg 9 A I fhae ST gar g2

1. TYPE/ClRU
' (11)



2. HELP / 84
3. DISPLAY / fe&=t

4. READ /S

Correct Answer :-

« TYPE/CIRU

12) is a type of operating system that guarantees a certain capability within a specified
time constraint or deadline, i.e., the OS is designed to respond accurately in a timely manner. /

TP TR P TR Red € < [Afdte Ivg saRiy a1 Ssargd & siavia Hifda
%ﬁmW%,ammﬁmmmﬁmwﬁww&mﬁﬁw
[

1. Batch Operating System / 99 SR Req

2. Network Operating System / Jegd TR Ren

3. Interactive Operating System / 3?3‘% SR Red
4. Real-time Operating System / ﬁ'clﬁ-?ﬂg'q SR Riew

Correct Answer :-

» Real-time Operating System / ROd-ergw ST ey

13) A locking mechanism that allows multiple program threads to share the same resource, such as file

access, but not simultaneously is called ./dg AIBIT ﬁ%ﬁw Sl 3% m DEiical
YA 1Y Y 5 BIsd TY USH 4T §, Afde U I1Y 8], CEASIGIR|

1. Semaphore / AR

2. Mutex /Tq\%a;[

3. Race condition / X¥ He1XMH
4. Deadlock / SSdIH

Correct Answer :-

e Mutex / Tﬂ%ﬂﬂ

14) In MS-DOS, contains the default MS-DOS device drivers and the DOS
initialisation program. / MS-DOS #, f$WTee Ms-Dos f&arsy gr3ar 3k DOS sFHRF@Ew=E T
_ #fyRasaEl

1. MSDOS.SYS

(12)



2. COMMAND.COM
3.108.8YS

4. CONFIG.SYS

Correct Answer :-
« JOS.SYS

15) In the Linux distribution structure, which directory is specific to each user and contains
log, lock, spool, mail and temp files? / oo @1 fqaRur IvTT #, U@ goR I It a8 faflRe =
(STAvEY) DI 3t § R alv, die, Ta, Ad R ¢ BEd Wi gid 82

1. /etc/
2. /bin/
3. /log/

4, /var/

Correct Answer :-
o /var/

Topic:- Application Program

1) In MS Word (all versions), what is the shortcut key used to copy and paste formatting from text (i.e.

copy font type, size, colour, etc.)? /@wa@f (?N-ﬁ?ﬁi:l') ﬁ, e} TRe 9 WAl (ﬁ'@{- ﬁﬁ, HIUC BT
ST, TPR R T FAME) B H1YT T U B P I S A =MTdPpe-S1 BT SUART fowaT Srar 82

1. Ctrl+C; Ctrl+V
2. Ctrl+Shift+C; Ctrl4+-Shift+V
3. Shift+C; Shift+V

4. Alt+C; Alt+V

Correct Answer :-

o Ctrl+Shift+C; Ctrl+Shift+V

2) Which of the following is NOT available in the ‘Text’ Group of ‘Insert’ Tab in MS Word (version 2007
onward)? / THEH TS (2007 3R 3P 1 & goi)) A, 3¢ ¢d & ‘TRe’ U H Frg & I w1 Suarsy
51 BT 82
1. “WordArt’ with Layout options / & 3(T3< fdeed & 1Y TS 3T

(13)



2. ‘Textbox’ to control position of a block of text / &iIch d CRC PTUIGIIRIT & YAV & ‘CRCHIRT

3. Title Entrance ‘Animation’ effects / E'lgﬁﬁ Q%Aﬂ ‘Q:ﬂﬂm’ _{Eb_cﬁ
4. ‘Quick parts’ to store and re-use content / HT P USRI 3R QH:—U’@‘T & fore foe ure

Correct Answer :-

« Title Entrance ‘Animation’ effects / E'I_a'ﬁﬁ Q%\.ﬂ ‘Q:ﬂﬁ'-‘l'ﬁ’ E"a?_CE'

3) Which one of the options is available for creating Headers in MS Word (version 2007 onwards)? /

g;qgaé(zom 3R ISP 3T & goi) § g4 fbue &1 F forg A & A 31 a1 faweu Suersy

1. Different headers for odd and even pages / TH IR fawm q@f & Q1T SferT-3ferT R

2. Different headers for different MS Word views / SIVI-3T] BT & THTY CE) al% T%I'Q ST %ﬁ
3. Fade In/Out transitions for headers / %Sﬁ & 1%111 s 2/3I3C m

4. Animated headers / TFHS geX

Correct Answer :-

« Different headers for odd and even pages / HH 3R favy Q'@f & ToTT 3ITT-31eT 882

4) Which one of the following options is NOT available in the ‘Paragraph’ group of the ‘Home’ tab in
MS Word (version 2007 onwards)? / THTH T8 (2007 Goi- 9UT IUP d1¢) & GIW’ T & I’ JU
# 9§ 9 914 1 fdoeu Suesy 751 il 82

1. Pictures and Shapes / fUR Td A

2. Create Table / TTfCTan1 &1 fFHT0T

3. Create bulleted list / @@I%TS' foree &1 fmfoT

4. Line and Paragraph spacing / ¢llg- 3R TR W

Correct Answer :-

« Pictures and Shapes / fUeR g e

5) Which one of the following features is present in MS Word (version 2007 onwards)? AECEE:] Cac)

1 U BIeR THUH- g8 (d9i 2007 SR SH 916) H UrAT &I1dT 82

1. Compare two versions of a word document / Tl Gl G —G'H@W Gl ol oAl
2. Create pivot charts / fUqe arc &1 At

3. Create transitions / E\Tﬁf-‘lﬂ CARREIL]

(14)



4. Store indexed data / JdId& SCI P IR PRAT

Correct Answer :-

» Compare two versions of a word document / fpgialas SI%H.QH Gl NNEICEGI]

6) Special effects like Fade In, Fly In, Expand, Grow and Turn are examples of: /%S T, TEIT&; T,
TUS, U 9UT o+ oIl TIRd Shae [+ &1 IS8l o

1. Exit effect / TSI 3hac

2. Motion path / A Uy

3. Emphasis effect / Q?ﬁ?ﬁm gaﬂf
4. Entrance effect / Q%AF 3&7_‘:!?

Correct Answer :-

« Entrance effect / @W W

7) Which function gives the count of cells within a range which meets particular criterion MS Excel? /

THUY o |, S19 91 o Bt faiy Sexa | Ruid Il &1 9 &1 gdrar 82
1. COUNTIF / ®TI3cgh
2. COUNT / BT3¢

3. INDEX / S8

4. MODE / OIS

Correct Answer :-

+ COUNTIF/®3csh

8) Which feature makes the PivotTable interactive? / CaCk:| BIR fUae A Bl W CEIGH %?
1. They can be printed with the interactive controls / G% s’c‘efo?cq P §\I g & 1Y fiie fopar &1 gebdn %

2. Mail Merge option can be used on the data / ST R Td Hol BT fadhed SUTNT fowa o Tl %

3. Columns and rows can be filtered, sorted and analysed / PHIH! TUT Uil &I W, Jic U EINIES
ERISIRETIN

4. Data can be dynamically added to the table / ST I g T I dTferdT H AT fohdT ST Fehel %

Correct Answer :-

o Columns and rows can be filtered, sorted and analysed / HIGH! qUT Uil &I ﬁ’?{ Tic qur CINIES

oo o ar g
(15)



9) Which view allows the user to find where Page breaks will occur in MS Excel? / THETH Qﬂ@ﬁ x| STei
U1 9 BT 2, S UM & P+ |1 of oI} & fo1¢ e g e?

1. Print Preview/ fUic Eﬂ-ai[\

2. Print Layout/ fiie Temse

3. Normal View/ FTHd g

4, Page Break View/ U S =28

Correct Answer :-

« Page Break View/ S 5 q

10) Which one of the following statements is TRUE for ‘Define Names’ feature in MS Excel? / THTH

TR H fSrEaTw s R ud I s aTsyT I 82

1. It maintains names of cell ranges or features within the scope of a worksheet or workbook. / g ERESIED

T 7 fAReren &) gebiie a1 adhee b WhIY B SidTid SRIAd Bl S

2. It maintains all titles and names across the workbook. / d& W & ot <fifept 3R AT Bt W&Iﬁ
HRATS

3. It maintains title names of all worksheets. / G adhite! o ] & AT B 3@@1?‘[ FRAT S

4, It maintains a list of names of all charts and graphs. / it Tref SR TRt & ATt ?ﬁ Eal 3|_(Rf§‘|ﬁ Dl
g

Correct Answer :-

« It maintains names of cell ranges or features within the scope of a worksheet or workbook. / Ug T IS &

T a1 faRivdTaT ot ahRite Sal g & WhIU & Sfaid SFRIed #al &

11) Which one of the following statement is TRUE about Print feature in MS Excel (version 2007

%%rds)?/@wqaaﬁa(zom 3R ISP ¢ F Toi) & fiic PR P IR | FU A A s a1 HYa

1. Print area cannot be restricted to specific table or cell range only; the entire page will be displayed. / fiie

R o1 Frad fafkre Saa a1 a Yol ao a8 forar o g 8, 1 O uelRia gl

2. Row and column headings cannot be turned OFF for display and printing. / oo iR fiifdT & fore dfe
3TR Pl B! 5fST Pl e 3iith a1 fopan o epell|

3. If an excel sheet spreads beyond the margins of a page, the print cannot be made to fit to one page. / i

TS e BT TR U & Ao F Sa1eT 81 97idT 8, a1 fiie Tes O iR 18T e

4. A printout of an excel sheet with no data will not print the gridlines, even if Show Gridlines while Printing
option is checked. / foT farsit ST aTel Tawd Riie & fiic d Rrears i fife 781 gith, Tt a@ & aa ot

(16) -



gl dlq “RATTUSAIS~T g1 MICIP Tdeh el ol SUHNT [P AT U & |

Correct Answer :-

« A printout of an excel sheet with no data will not print the gridlines, even if Show Gridlines while Printing

option is checked./WW@HMWW%Wﬁmﬁ%ﬁm,WW%Wm
Tel afe = e~ =R fifér e o o ferar mar gl

12) Which one of the following indents is used in MS Word (all versions)? / THTH CE) mq-ﬁ aﬁT{) s i

59 YR & ST ST TR AT 32
1. Top Indent / ﬁqsf\c_:?

2. Hanging Indent / %'li.‘l 3"@?

3. Bottom Indent / S1cH 3%%
4. Split Indent / fQete ge

Correct Answer :-

« Hanging Indent / %'Ii.] 3%?

13) Which of the following is defined as a ‘Start Condition’ for an animation in MS PowerPoint? /

THEY Uiaeuise A A § O frd oM & e <erd ey & =0 A ufvHiiva fear sar g2
1. Criteria / SPTSC AT
2. Event/%ﬁf

3. Rule / &

4. Trigger / IE‘ R

Correct Answer :-

o Trigger/ |E\‘ R

14) Which of the following statement is TRUE forHeaders and Footers in MS Excel (version 2007

%%ds)?/@wmﬁ(zom 3R 91g & aui) ¥, 359 SR Bed & IR A Fg A 4 &9 a1 fawe

1. All pages can have only the same header and footer. / Tt q@r U UhJHH -E:'SQ B'ﬁT hcX é)f Ep[ q&hd %l

2. Headers and Footers have 3 sections each, i.e., left, center and right. / %S%T B?IT '-QC%? HUde H a YT,

31Td- ST, Bt SR &, B g
3. Headers and Footers appear in all Excel Views. / %Eﬁ 3R WW & TS 5’13?{ aniQ EIEES] %l

(17)



4. Headers and Footers can be retrieved only from a table in a worksheet of the Excel document. / YRl

STRHE BT ghiie H, 383 IR el Bbad dTer! ¥ I: WK T o1 Jod B

Correct Answer :-

* Headers and Footers have 3 sections each, i.e., left, center and right. / %E_Ff 3R Wﬁ Ud® | o Y,
3rfd- S, i SiR &, BId § |

15) Which of the following is TRUE about Header and Footer option in MS PowerPoint? / THIH

TiaRuige A AR iR PR fApey $ IR A FRF A A P AT HYT AU &2

1. Headers and Footers can be different in odd and even pages of the PowerPoint. / UTETCI}I%_CF'E[ T 3R faww

U8} TR g% 3R e - 81 gavd §
2. It does not have a built-in feature for Header. / aﬁ %3'\’ & %E Cb\lsr RIQ'C-E:T IR SUds :Eof 6\I(1I %l
3. It does not have built-in feature for Footer. / Eﬂﬁ HhR *® ﬁm ﬁs‘ %?\:’-37{ PR IUdsy :iﬁ %'I?lT % |

4. It does not have option for Header and Footer in the notes and handout page. / =hw 3R %'331 3C US|

B 3R Bex BT HIS fdded 781 BidT 3

Correct Answer :-

C o

« It does not have a built-in feature for Header. /sﬂﬁ %3? %ﬁm d;l‘é [dec-gd R SUdS =|%°r S\Idl %I

16) What is a PowerPoint picture presentation? / Iﬁ'ir\rqi'sz R USiewH w1 %?
1. It is another name for a slide show. / g WI%EQﬁ DI TH AT ATH %l

2. It is Microsoft’s PowerPoint version for MacOS. / g8 %\ﬁf@ * ﬁ‘l'q nsaﬁxr‘fq«? UTEITCIV'IE_C’ CAREA oI
gl

3. It is a PowerPoint presentatlon format that Is used to display personal or business photographs like a photo
album. / T8 U UIaRUISC YGICRM P HiHC & [T SUTNT SATGRTd S/aT IR JTa=i IR Bl
TesH 1 Hifd HefRid febar STt 3

4, It is an Open Source version of presentation software. / dg Q@%"\’F{ Tltead Bl Th 3N ?ﬁﬁ a\_rﬁ %l

Correct Answer :-

« [tis a PowerPoint presentation format that is used to display personal or business photographs like a photo

album. / T8 TS UlaRUISE USIe R BT HIAC g T SUANT SfekiTd 314dT SaMIR Tr=ft e uhl B
TesH Pt Hifd UelRid fear S 8|

17) What is the function of Proofing feature of MS Word (version 2007 onwards)? / QTIWE?:' (2007 3R

I9P 9IS P qoi) A YfthT WHR &1 71 1 glar 82
1. To correct grammatical errors and spelling mistakes / o=t 3R BRIV Tt o G PRl
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2. To write comments for the author to review / ¢I-ddh & [cTU HHIET T2 U TCWU[] TeRgH]
3. To translate to specific language / ot fafRry yror o 3fdiq
4. To protect the document from certain users/readers / 3= BRG] Yoi/ SRR @I@{ﬁ’c’ Gl gRé&lm

Correct Answer :-

+ To correct grammatical errors and spelling mistakes / ot SR SR Tafaal ﬁ@m‘«n

18) What is the best data summarization tool to condense large datasets of sales data and provide an
informative summary of regional comparisons between brand sales in MS Excel (version 2007 onwards)?

/ THTH THd (2007 3R 3P 916 & gui-l) H, AT ST & 93 Sl Al P Al H31 9471 Jis A
3R &t gaTe &1 Ja& AR UM & e o9 91 Td8te Ser dfradieo gas?

1. Create Pivot tables / {da¢ caex &1 fH0r

2. Create a data mart / ST HIC &I (AT

3. Create a data cube / ¢l Y Pl famo

4, Create a dimension table / @@W TTd BT ﬁTﬁ'UT

Correct Answer :-

« Create Pivot tables / fUdc ¢deq o1 (AHT

19) What is the extension of a MS PowerPoint (ver. 2010) template file? /@'QWU‘IJHWV'IE'E’ (2010 avh)
SHITIE W BT TaHC 3 F1 52

1. .pott
2. .pptx
3. .potx

4. .pptt

Correct Answer :-

s .potx

20) What feature enables drawing decorative text with graphical effects such as skewing, shadowing,
rotating, stretching in a variety of shapes and colors with three-dimensional effect in a MS — Word

document (Ver. 2007 onwards)? / THTH 8 (2007 3R ISP T1g P T9i) H, SR B! AbPHd ghacy
F GRT IS S fb 31eRY o1 foRsT H31, VS YT BT, T, ﬁf‘usrwm’rsﬁ'\rwﬁﬁéﬁm
%1, Bifadia v # wga w1 & e wged W T S g?

1. Font effects / TPIUC SWhac
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2. Smart Art / THIC 3HIC
3. Clip Art / faerg o1
4, Word Art /731_6F e

Correct Answer :-

« Word Art /98 3¢

21) What is the purpose of ‘Top 10 items’ under ‘Top/Bottom Rules’ of ‘Conditional Formatting’ menu
in MS Excel (version 2007 onwards)? / THTH T (2007 3R SHSP F1G & qoi) H ‘B Ix-d
BRI A & STU/aTcH TP & 3fafd 2T 10 SATSTHD BT I T 8?

1. Tt shows only the first 10 columns in the sheet / g i & Had YYH 10 PHIAH gl G %I
2. It shows only the top rows of the sheet / %Qﬂfﬁm Qﬁﬁfmﬁ—g{mm %I

3. It highlights top 10 items that are higher in value than the rest of the numeric values in the specified column /

T8 fAfdwe Hiawl & siwig Al &1 ga1 & Had Y 10 AT $1 81 Xaifehd B g |

4. It sorts the column’s numeric values in descending order / g HIAH b BT AT P 3‘]3@%3[ HO T B
ARl

Correct Answer :-

« It highlights top 10 items that are higher in value than the rest of the numeric values in the specified column /

Tg fAfdwe Biawl & Siwig Al &1 ga1 & dad Y 10 AT &1 g1 Xaifhd BT |

22) What is the purpose of ‘Orientation’ in the ‘Alignment’ group of Home tab in MS Excel?/ THTH

T ¥, G ¢ & TeTg-THe’ U § <SR &1 e |1 glar g2

1. It rotates text in a cell to vertical, text up or down. / & 3! I & ¢ DI SR AT -ild & HH o
AT PR &l o

2. It switches the rows and columns of the worksheet. / U8 gh e & ufaaal GhT PHITHl BT \Hﬂ?ﬂ-@ﬂ?ﬁ D
aTg|

3. It switches the rows and columns of a table or selected range./ g lINEARIESNE K] TIEFQG[ P! Ufgear
STR BIcH P! Sferell-gaet P al |

4. Tt changes the page layout from portrait to landscape. / Ig U & d-313¢ Bl tﬁg?f Y dewpy & uRafdd
CRCK IS

Correct Answer :-

o It rotates text in a cell to vertical, text up or down. / Ug et I o o I SR YAT D & paH o
Tad BR oaT gl
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23) What is the purpose of menu item ‘Existing Connections’ in MS Excel? / THUY Uil b H]H

R TR AR FTRT I T e?

1. It lists the name of charts and graphs and the table from which the chart is derived. / Ig 3 TTet 3R ATh
SIR TIferesT 1 Gl ST § SRl ¥ 91E Hed: SRIfrd gial 3|

2. It lists the connection data files i.e., information string that defines how the excel should connect to an

external data source. / T8 H-aRI Sl HIZa & Yol ST &, SHUTd SHIHIA R &l Ydiag BT §
ST U8 ST § fob Uil 1 b ot aTel ST 4iid ¥ ST o |

3. It highlights the cells or cell ranges that have been referenced from other workbooks or within the workbook.

/I8 G & Sfaifa sruar fhelt o adhge! O Teffa o) S arch Jat Srar ISl Y Xifdhd FHal 8l

4. It indicates the links of cells from one excel worksheet to another within the workbook. / U& W =R

THRT dhiie I Aol & fofep! bl gu=t ahiic H Tobfde B gl

Correct Answer :-

« [t lists the connection data files i.e., information string that defines how the excel should connect to an

external data source. / T8 HaRI ST BIIE! D1 T T &, ST STHIARH T B Gelas BT §
S U 9Id1dT & fob TTd ! B fodl arel Set 4id ¥ st S|

24) What are Notes in MS PowerPoint? / THUH 'qv'IT:'TQ'\IJE?.’ | T'ﬁ_d:\‘f T %?
1. Notes are handed out to the audience as printouts / fllcan3e & U § gxie! B &} o arel faarfomesT

2. Notes are comments that are written by reviewer of the presentation / USICRM o Fejlerds gRT foret Tt

3. Notes are footnotes and endnotes that appear at the end of the slide and presentation, respectively / &g S

3R USIeRE & 3id H fawm ard $hRE: Hedle 3R TeAre

4. Notes are speaker transcripts that are visible to the presenter, in the Presenter view during the slide show /

WS 2 b SR Udhdi & o H TRgdDd Bl (38 Jb+ 10 IGENS & Crfh e

Correct Answer :-

» Notes are speaker transcripts that are visible to the presenter, in the Presenter view during the slide show /

RS =M & SR Ui & & H TRgddhd Bl {38 T Td IS & CrIfeh e

25) In an Excel worksheet, how are rows and columns identified? / Yo TRl gdheiie § ufd ofiv
P &1 UgaH H I o 32

1. Rows are identified by alphabets and columns by numbers / Ui P JUiATET & 3MYR W 3R HiaH B
BT & YR TR GG Sl §

2. Rows are identified by numbers and columns by alphabets / Ufad o1 G- & YR WR 3R HiaH Pl
qUIHTET % SR TR gl ST @

3. Rows and columns are both identified by alphabets / Ufad 3R HiaH G B JUiHTAT & YR TR UgdI-l
SIGI
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4. Rows and columns are both identified by numbers / Uldd 3R h[cTH qIHT T Ug [ HHT o YR UR Il

g

Correct Answer :-

« Rows are identified by numbers and columns by alphabets / Ufad 1 = & YR WR 3R HIaH Pl
qUITTET 3 SMYR TR UG &Il §

26) How are ‘Rules’ used in Mail Merge feature of MS Word (version 2007 onward)? / THEH CE] (2007

3R 3P 91¢ & o) T, AT 7S R § T 50 7oR 1ga 81d 82

1. To enable mail merge option in the Word document based on specific criteria / fafry Amuce R snemid s

Slagic & Ad Aol fddhed &1 39 oA P g

2. To map custom fields to columns in the recipient list / PG @ & PHIaH H Heed Bies o AT &

fer

3. To choose recipients from different sources of recipient lists based on criteria / HFG S TR U ?ﬂ
& Taftrr oiidl @ ureqebdisll & =9+ & fer

4. To send different content for recipients that satisfy specific criteria / T Al Aucs & A CEECI]
o N\ C
s e Dl Urddhdl db Ve & ferw

Correct Answer :-

« To send different content for recipients that satisfy specific criteria / fopat Al AMUcs & PRy CEEECI]
RPN CIGE R EEE A Y

27) How is a cell from a worksheet referred in another worksheet in an Excel document? / U ¢l

SIRHe T TH I B TP gohRite I ol gdRile o $a defld fear s 3-
1. Sheet 1, Row 1, Column 1 = ![Sheet 1]AA /RMiE 1, Ufdd 1, WY 1=![2flc 1] AA
2. Sheet 1, Row 1, Column 1 = {Sheet 1}&1A / ffc 1 Ufad 1, WY 1={MT11 &1A
3. Sheet 1, Row 1, column 1 = &(Sheet 1)11 /3Me 1, Ufad 1, WH 1 = &(2fe 1) 11

4, Sheet 1, Row 1, column 1 = ‘Sheet 1’!A1 / R 1, Ufadd 1, &Y 1=*Tffe*1A1

Correct Answer :-
« Sheet 1, Row 1, column 1 = ‘Sheet 1’!1A1 /0 1, Ufad 1, TWH 1=*2Mc*1A1

28) How is the Tracking feature of MS Word (all versions) used? / THEZH CE) Gl ‘lﬁaﬁﬁ) | %ﬁ?‘ﬂ WY
BT TN fh g ThR BT 82

1. Tracking is used to protect the document from editing by certain users / E'%T BT IYTNT 3= q\\_rlﬁ gIRT

STagHe BT TS 4 Wean & fugiar s
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2. Tracking is used to follow up on comments, insertion and deletions in the document / I T hT SUYN]
fermafora, Sroo $fR SroTStHT Y Wi  BiaT ¥

3. Tracking is used to check the document for grammatical errors and spelling mistakes / a%‘l BT IYINT Tt
3R TR RISt Bl Sifew H 8l 8

4. Tracking is used to Compare and Merge documents / é’%"{ Cakeieuin ﬁaqﬁe;r DI gl B SR D]
MG A S A g

Correct Answer :-

o Tracking is used to follow up on comments, insertion and deletions in the document / %ﬁﬂ'f BT IUIRT
fewfOr, TwoTt SR ST I Sfie & gidl §

29) How is a macro created in MS Excel? / THEH Eﬂ'\ﬁﬁ H &l oa fAfda @T‘IT %?

1. Macro is a Windows service created using software development tools / ﬁﬁ'ff Th ﬁ@ﬁ ﬂm % KRG
fAnfor SiteaR faewRyd &= ard & & TN gRT e Sirar 8

2. Macro is created by using a macro recorder / Aeh! o1 fAAfur Al Repie & IuanT R fopar Srar %
3. Macro is created as a web service/ ﬁﬁ CARGEIS Uh J9 i b U | @T‘IT %

4. Macro is created as a stored procedure from an Access database and referenced in Excel / Tt &1 fAmior

THRTd B T STTey a0l Saiid O WR &) T8 ufear & =y A gar g
Correct Answér - | |

» Macro is created by using a macro recorder / Tep! & faTor Aep) Reprsx & STaNT R far ST %

30) How is a formula entered in MS Excel? / THTH t‘,ﬂ'\aﬁ A Elﬁ"s: tb—l'li?ﬂ 9 yfaee far s g@arn %?
1. By typing ‘@’ sign in the cell/ I d ‘@’ g TIsu IR

2. By typing I’ sign in the cell/ I H I’ ﬁl%agqm

3. By typing ‘= sign in the cell/ qqH = ﬁlr_s’agcrm

4. By typing ‘&’ sign in the cell/ JAqH &’ g ey CXCY

Correct Answer :-

» By typing ‘=’ sign in the cell/ qaH = Fﬂ?e'ang

31) In MS Excel (version 2007 onwards), which of the sort options are not available? / THTH Tl

(2007 3R I 91¢ & i) A g # F B T1 91 [qPpeq A T8 82
1. Put selected cell colour on top / TafAd T 9 31 2 R FHR

2. Put selected text orientation on top / Y CRE 3 RQ oI P MY R /AT
@23



3. Put selected font colour on top / U I W[UC I XY YR G -T

4, Sort ‘Largest to Smallest’ and ‘Smallest to Largest’/ “AoRE < e’ 3R WeRe < drore” fdwe

Correct Answer :-

 Put selected text orientation on top / P CRe NRTCTH Dl Y TR T

32) In MS Word (version 2007 and above), which of the following is NOT a valid data source for
obtaining the recipients list? / THET TS (2007 3R 39& 91¢ & aui-) H, Fru & A a1 ureaepdt =it
I R & 1T I SeT o 81 82

1. MS Access / THTY TRIY

2. MS Word / THUH T8

3. MS Excel / THTYH TR

4. MS PowerPoint / mm

Correct Answer :-

¢ MS PowerPoint / mm

33) In MS Word (version 2007 onwards), how to show the same document in 2 windows to work
simultaneously in different places at the same time? / THEH CE) (2007 3R TP dlq & avh) ﬁ, Ebf
S-S AT UR TP B THT WR BT B34 & fore TS g STagdic ! of fasie # f5a uer gxifan
STaT 82

1. Arrange All/ 3R i

2. Multiple Pages / Teciud Ust
3. New Window / qﬁ‘eﬁ\‘r{

4. Split Windows / f&cte fasie

Correct Answer :-

e New Window / < EIN

34) In MS Word (version 2007 onwards), how to control alignment of a decimal number, such that the
decimal points of all numbers arranged one below the other are aligned to the location that is set in the

ruler? / TATH T8 (2007 3R IS q1g F doi-) H, IR IB & TelsHe &l fHa yor Hafa
mw%ﬁqmmﬁ%mw%ﬁmﬁwﬁaﬁsﬁvwﬁwm%swu
Qelg-S &l?

1. Provide decimal Tab Stop before typing the numbers / TS 213U H Y Jd GIHAT ¢& W0 UM HRAT

2. Provide center indent before typing the numbers / '{-RS&IIQ CcIgU - @ Uﬁ T 5'@3'(1 Yald hRAl
(24) i o i i



3. Provide center alignment for the selected numbers / HAdC hT g HHTH & TefU R UcllgdHC Ugl -]

4. Provide a text box with centered option for the numbers / TEmsif & forg Tes SITRM & WY TRe sia
YT pAT

Correct Answer :-

« Provide decimal Tab Stop before typing the numbers / TATE CI5Y CE uj‘orsmaa’ 9 W USH BT

35) In MS Word (version 2007 onwards), which of the following views show just text in the document
and is useful for editing as headers and footers will not be displayed in that view? /E'FI'QWEK‘:; (2007 3R
IP 91¢ P quil) A I H § P17 91 of STagic § Had SR B! a1 ¢ 3N vfefen@ure) d
SUURT BT & Tl 39 g H g4 ofR ped fEwat =18} gl

1. Outline View / T3 AT &
2. Draft View / SIUC &

3. Print Layout / fiie demse

4. Web Layout / Jd dem3e

Correct Answer :-

* Draft View / SIUC &

36) In MS Word (all versions), what is defined as a reference note that credits a source of information
such as book, journal, etc., in a particular format and style? / THZH CE) ™~ ft awh) ﬁ, foredt mrr wre
T et § forar g3 ¥ww Aie Sl fohdl T&as a1 ufi®T & 4id &1 SHSRI &dl 81, FT HeardT 82

1. Citation / TS
2. Comment / HHC
3. Endnote / USHIC
4. Footnote / @T‘ﬁ_‘f

Correct Answer :-

o Citation / EI%%Q J

37) In MS Word (all versions), which one of the following statements describes a footnote? / THIH G

@t auin) A, g ¥ A 9 I HY= Hedle o uRyia srare?
1. Comments by reviewers / JHleen! P lewfort

2. Contents written in the footer section / ex YT & ferd E‘g et

3. Notes at the end of the document / aaqﬁw & 3 ¥ ford Y :n_d\ﬂ
S (25)



4. Notes at the bottom of the page / UST & I T¢id gU —IcH

Correct Answer :-

« Notes at the bottom of the page / U o A fora Y :nﬁﬂ

38) In MS Word (all versions), how is the page layout changed from Portrait to Landscape? / THIH CE)

@t aui) ¥, U A3Se ol Uice A dewhy A # 5 yor uRafda forar s g2

1. Select ‘Orientation’ in ‘Page Layout’ and change to preferred layout / TS A-3{T3¢’ | *HNUC fdweq
BT 99 PR YR d-sr3e & uRafdd &

2. Change ‘Size’ under ‘Page Layout’ from A4 to A3/ Ul A-3M13¢” &b gy’ fAhed T A4 MBHR & U B
A3 H Saa T

3. Create a text box with required size/ fRuifed MR &1 T CoRC dIa TP

4. Increase margins of the document from ‘Margins’ of ‘Page Layout’/ T A-3A3C” & Ao faped o

STagHc & HIfoH Bl TG

Correct Answer :-

» Select ‘Orientation’ in ‘Page Layout’ and change to preferred layout / TS d-3M3e | <N fadben
1 98 BRp MR a-3rge & uRafdd B

39) In MS Excel charts and graphs, where can a user set data source, legend entries and data series? /

TATY THOd I U9 U T, U goR Sl 9, diols Udl 3R 32T AR &1 $8l IR A B qadl

1. Source table or data cell range / I eod 3yar ST A I |
2. Worksheet properties / gehRite gracher o

3. Format Chart Area / TIHC TIC e o

4. ‘Select data’ option / e scr fameq o

Correct Answer :-

» ‘Select data’ option / Jdae s faweq o

40) In MS Excel, which one of the following ways does NOT insert multiple columns? / THEZH TRl 'Ef,

P DIAH THATY SIS P oI DI T aRtepT 8] SIU=TRIT STl g2
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Select the number of columns that needs to be inseried,
= Choose ‘Columns’ in the ‘Insert’ tab

[ Tl RlclH SIS & 3eich] Tolde, thial
éls—q-&r‘\ ] 'aa':‘q— J-HHB:I-: HW

Select the number of columns that needs io be inseried,
= Press ‘Cirl+’

/ T FloTeT SST & 3! Tolde &dal
= ctri+ TalAT

Select the number of columns that needs io be inseried,
= Choose ‘Insert Sheet Rows’ from the ‘Cells’ group of the ‘Home' tab

/ ToTCTeY ehlereT SISl B 3eteh! Selae el
> B & o o AU ‘Feeic AT Vet T e Bl

Select the number of columns that needs o be insered,
= Right click and select insert

/ TSI ol 5ol b 3eihl Selde, Blal
S T5e (el Hid Srac & 93

Correct Answer :-

Select the number of columns that needs to be inseried,
= Choose ‘Columns’ in the Insert tab

/ FaTcTeT Sl old SAI5el & 3e1eh] oldT el
= Seqc’ ¢F U T BT A

41) In MS PowerPoint, which view displays the entire presentation as thumbnails, so that the presenter

can re-arrange and organise them? / WWﬁWQﬁ?W%WWWW
TRfI®Ror B H&U # welid fear s & SR a8 32 17: e ik uehlRia &% a&?

1. Outline View / T3S &
2. Reading View / NI g
3. Notes Page View / :ﬁw L q
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4. Slide Sorter View / ¥[8 IR Y

Correct Answer :-

« Slide Sorter View / g S i3 g

42) In MS Word, what is a Table of Figures? / THUH I8 ¥ <Tga 3ATP WRR® T %?

1. It is the table of titles and headers of each section. / T YT B Qﬂ'ﬁ 3?|T ’E‘»S{-Irﬁ RINER

2. It is the table of all figures which have been captioned in the document. / STaqﬁ‘c’ o aniQ Tt el ot
aTferepT

3. It is the table of all references cited in the document. / E'\I%ﬂ:ﬁ? T fou u ot St bt arferent
4. It is the table of all bookmarks in the document. / S'NI’TJP{@_C'% ﬂlﬁWﬁ GIRE]

Correct Answer :-

« Itis the table of all figures which have been captioned in the document. / ﬁ?{ﬁ? ¥ gRITe T o e @t
aTferepT

43) A macro-enabled document template is stored in format. / T t:Ea) Eﬁﬁ Iﬁﬁ*{ﬁ'ﬂ'
TAE B wiHe d R fHar s |

1. *.dotx
2. *.dotm
3. *.docx

4. * docm

Correct Answer :-

44) tool ensures that the presenter is able to match his or her narration with the slide timings
during a slide show of an MS PowerPoint presentation, by recording the time needed for each slide. /

A gfafa ovar ¢ f Rgaedl THEY tiaRuTse @ UldRuige URgfaeRul & iR Td®
5 S P forT Smavas IHg ot RPIIST & GRT U1 $YF B wWiisge S BT A R s &

WA E

1. Rehearse Timings / ﬁ%?fas’&m

2. Transition Duration / @'%I'QFT S‘iﬁ'ﬂ?
3. Setup Slide show / He-30 IRS W

4. Slider Timings / ¥IIgSY T fH
(28)



Correct Answer :-

» Rehearse Timings / ﬁ?ﬁ TSI

45) In the ‘Number’ group of the ‘Home’ tab in MS Excel (version 2007 onwards), what does ‘Percent

Symbol’ menu do? / THEH TRI (2007 mmm%aﬁmﬁ‘éﬂ’%%‘w’mﬁﬁa%ﬁ%
BT T ST §Ia1 82

1. Calculates the percentage as a difference between 2 numbers stored in 2 columns, divides the result by the

denominator in the 1% column and multiplies by 100 / 3 HiaH § YT gl sl & iR & UiaSid &1
TUFT T § SR U TR B UYH BT o G I YN HRl § 3R 100 H 0T B &l §

2. Multiplies the existing cell value by 100 and displays the result with a percent symbol / dg IﬁTYET Jall Bt
T BT 100 Y 0T BHRb TR B % & g B 1Y UeiRid Har gl

3. Displays the percentage symbol in charts and graphs / AE SR AB H % & g &l T Rid sl %I
4. Displays the cell value with a percentage symbol / YA P A B! % b I8 & Y PLANGECEG | %l

Correct Answer :-

« Multiplies the existing cell value by 100 and displays the result with a percent symbol / g Iﬁw Jall B
T T 100 3 T[ON HRb URUMH DY % P o & T UefRid dRar g

46) How should an MS PowerPoint presentation be customised to change slide order or show only
specific slides for specific audiences? / THTH JlaRUISC U= &I ENIER) & HH Bl ggoq a1 fafdre
Pl B haa giiar fafde weew fdam ¥ fiw #3 seursss e g ke

1. New sections should be created for each slide show / TP ESIES] WH m T YR FARIT ST El'I'%Q

2. Custom slide show option should be used / TcH RS W fadHed BT IUANT a1 SIHT A1RY
3. New views should be created for different audiences / f¥=1-fo= g2ie! & ﬁfq U a‘lﬁ'ﬁﬁ m SIH En%q

4. Different presentations should be created, and the common slides should be copied / -1 gefeRm

ffia fpu o =Ry, 3R SHISS WIgS Bl & Sl 1T

Correct Answer :-

« Custom slide show option should be used / H¥H 28 W fadwed &1 IUTNT foar ST =iy

47) How can non-unique rows be eliminated from tables in MS Excel (version 2007 onwards)? / THETH

T (2007 3R 91¢ & i) A, arfereT ¥ fafdre dfeaal &1 $9 gern S 9ol 82
1. ‘Group/Ungroup’ data / ST PI YUrSH{gu PP
2. ‘Consolidate’ summarised data to another table / H{&td ST &1 fareil m qIferepT & e Db

3. Use ‘Advanced Filter’ / ‘TSdY ftheey’ & ST gRI
(29)



4. Use ‘Remove duplicates’ option in Data tools / SCI g1 H ‘R gIih ¥’ Tddh el o SUANT IR

Correct Answer :-

[N

« Use ‘Remove duplicates’ option in Data tools/%?TQﬁﬁ ‘I(\Qlj\d §IL('1<\1’>QH’ fddhed & SUINT GRI

48) Which of the following statement is TRUE about Freeze/Unfreeze panes in MS Excel

(version 2007 onwards)? / THEH THRIA(2007 3R IHF q1¢ & i) H Wiel/ 3 hIS U4 & IR &
fadd s T sy I 82

1. To freeze more than one row and column, select the rows and the columns simultaneously and click on

‘Freeze panes’ option. /W@ i Ufad T HIaq PI Ald B o 1018 Ufad aﬁ?ﬁ?ﬂ?ﬁwu
Tela B “Thie U fdeped IR fakieh 1 =R T

2. ‘Freeze first column’ option used along with the ‘Freeze top row’ locks both the top row and the first
column. / ThTel T HIaH” 3R ThIeT 1T I fqswed! ol UHaTy Ugad o3+ UR I8 Y ufad iR uy|
BITH B TP PR AT S

3. ‘Freeze top row’ menu locks the topmost row, but unfreezes when ‘Freeze first column’ is clicked. / ThIel

21q 3 B 2 UfS Y s R ST © AfhT TBIST e I bl faketeb Bl TR T8 3FTWhIST &l Wil 8 |

4. Freeze/unfreeze option works independently in all 4 windows of a “Split” worksheet. / oI/ IS fddbed
fRgre’ gdhsitc ot @it 4 [ & goa 0§ &1 FRar gl

Correct Answer :-

» ‘Freeze top row’ menu locks the topmost row, but unfreezes when ‘Freeze first column’ is clicked. / Thial

1T 3 B 3 U bt dfep R el © QST THIST Bhie hier” ! ot PR TR I8 3TN o STl 8|

49) Which one of the following methods CANNOT be used to enter data in a cell? / I d a7
ufase Fe & e F 3 1 o W@ fafy & 8 78 arg o 9wdt 82

1. Press ‘Arrow’ to move to left, right, up or bottom cells / ETa, 98, SR AT EEEIE R SIEE]D f%nq ‘@’
CAKCIGI]

2. Press ‘Shift’ to move to previous column / fUsd Siad d oH & oY <RIt §e- & gdH
3. Press ‘Tab’ to move to next column / WWﬁEﬁ%W T I B GA[H]
4. Press ‘Enter’ to move to next row / 3RTl! Ufad & Gﬂ%faﬂ%ﬂ;f T JcH M

Correct Answer :-
 Press ‘Shift’ to move to previous column / fUsd ®iad § oH & T <Rive’ §e9 & gaF

50) How to create Newsletter columns in MS Word (version 2007 onwards)? / THETH as
(2007 3R ITA 3t & Toi-T) & YoTdex HIad Hd - oI 872

1. Add 2 text boxes side by side and hide the margins / U 1Y Gl CRe dIay UI\IS.GN 3R AT ﬁw
(30)




2. Select the text and choose ‘Column’ option in ‘Page Setup’ group of ‘Page Layout’ tab / CRC h[ HldC hidh

U] A3MIT’ ¢ P “YoRIC3W YU I “Hicw f[ddhed &1 99 db

3. Select the text and choose ‘Column’ option in ‘Paragraph’ group of ‘Home’ tab / CRC ] Jade TRb ‘fﬁﬂ’ G|

& IR’ JU ¥ “Hla et o1 99+ Hb

4. Create a table with columns and hide the borders / B IART b 1Y TP T SIIPR ISP Sle DI fHCTh

Correct Answer :-

+ Select the text and choose ‘Column’ option in ‘Page Setup’ group of ‘Page Layout’ tab / CRC P YT FRP

U] T3MTIT’ ¢ P o3 YU ¥ ‘Bl f[dded &1 9g- T

Topic:- Internet and Web Page Designing

1) Which one of the following error codes indicates “Internal Server Error - The request was not

completed. The server met an unexpected condition.” / FadA I e aﬁ' IS qe T:F«’I'f?ﬂ % &
“JTARD TAY THRT-TR H 319 TR & HROT 3MUBT RIS GRT &1 fopar 1 4r 1

1. HTTP 504
2. HTTP 500
3. HTTP 403

4. HTTP 501

Correct Answer :-

« HTTP 500

2) Which one of the following HTTP requests is used to retrieve meta-information without the response
body, particularly to check if a URL is serviceable or if a file exists? / fadaa A ki Udh HTTP e
AT YR aTel & Ael-3-BIaRA B T: 01Tt F g wga it 8, iRy 0§ 98 3% o1 & forg
o =T URL AT I § Sruar 1 wigd a9 82

1. PUT
2. POST
3. HEAD

4. GET

Correct Answer :-

« HEAD

3) Which one of the following is a new HTMLS5 element? / A= TS T HTMLS5 QFﬁﬁE' %?
(31)



1. <menuitem>-Defines a command/menu item that the user can invoke from a popup menu / <menuitem>- 3

SIS/ B! TR BT ¢ RIHT SUTIT Tiied UTY-319 T & I1Y HR Ghdl §
2. <ul> - Defines an unordered list / <ul>- U ¥ Igd ﬁ?ﬁ &1 URYTT BT 8
3. <nav> - Defines a container for navigation links / <nav>- AfTeE feie! & ﬁﬂl HeR B GRHTNT BT %’
4, %span>-Deﬁnes a section in a document (inline) / <span>-3'\|mj? (inline) & Th TR Bl GRUTT BT

Correct Answer :-

« <menuitem>-Defines a command/menu item that the user can invoke from a popup menu / <menuitem>- 3

HHIS/A ! URUTT BT & ForIHT SUTNT TRileT UlY-31T T & 1Y HR Tl &

4) Which one of the following statements is TRUE about CSS? / CSS FIRA AT H AT HYA
T 82

1. CSS is cached style sheets. / CSS WW Tt %I

2. CSS contains the data that is to be displayed in the web page. / CSS T 39 U9 WR vefRid fasar s arer Ser

gar gl

3. CSS does not work with any other markup language except HTML. / CSS HTML Call @33?_{ ot o=
HTh 3T UTHT & AT TS Te} HraT 3|

4. CSS rule-set consists of a selector and a declaration block. The selector points to the HTML element, and
declaration block contains the property name and value. / CSS Fd-4e ¥ U Jaae? 3R T fSH
&I BIdT ¢ | YIdey HTML TATHE &1 Uise Bl § SR SN &l § HIue 71 IR AM 8Id 51

Correct Answer :-

o CSS rule-set consists of a selector and a declaration block. The selector points to the HTML element, and
declaration block contains the property name and value. / CSS Fd-dc H TP dadacs 3R TP fSaieH
il BIdl &1 Jciaey HTML TAIHE B UISe el 8 3R [Soiie sciles H Uiuef 78 IR 9 81 &l

5) In HTML,<col> is a tag. / HTML H <col> T®H SR
1. Formatting / BIHCT

2. Table / T8

3. Frame / TPH

4. List/ fore

Correct Answer :-

e Table/dd



6) is a unique logical address consisting of a network component and a host component,

assigned to a machine over the network. / frelt Aead W= fH=dt a=iv &) smdfeq Aead
UTH JYAT EIRE TP P &Y § TP 1o wifordd Ty gl

1. Absolute URL / 3SHIRC J3HRUA
2. IP Address / Hﬁﬁ@ﬂ

3. Domain Name / S8 =0

4, Relative URL / Raifeq Y3HRUA

Correct Answer :-

« IP Address / 31TS Ut Tgq

7) is a standard protocol for accessing e-mail from the local server by receiving and holding it
in the Internet server till it is requested to be downloaded. This protocol allows simultaneous access by

multiple e-mail clients and usually uses port 143. / W@@émﬁﬁ%mwmﬁ
TR I UTed fodl A 1 gexrie Ak H a9 @ P oidl & 9d a9 I8 Thadryd® SIeals = &l
S| wﬁﬁﬁgﬁwﬁﬁwmﬁaﬁmaﬂmﬁm% 3R YTETd: 143 T
T IUYNT HAT 8 |

1. Post Office Protocol 3 (POP3) / URE 31Ty Tieldpid 3 (POP 3)

2. Simple Mail Transfer Protocol (SMTP) / Rigar o W FIECA (SMTP)

3. HyperText Transfer Protocol (HTTP) / 8IUX AT giH TR Ulcipid (HTTP)

4. Internet Message Access Protocol (IMAP) / 33@3 BR) TR Uieidbid (IMAP)

Correct Answer :-

« Internet Message Access Protocol (IMAP) / S aTe IS TR Ui ld (IMAP)

8) is a broadband internet access that uses coaxial cable which is capable of transferring

data at much higher speed than common telephone line. / Udh aTsﬁ:cf Ef?ﬁ? 1?,3'@'\"-[ % foraw
hw@ﬁnﬁﬁﬂwﬁamﬁ%ﬁwéﬂuﬁqaﬁﬁeﬁwmmm

1. Cellular Internet connection / @?EK’R 5??313 HaRH

2. Satellite Internet Service / ?iCQﬂsd 5*(‘.{'?1(1 Tfdg

3. Cable Internet Connection / & s«:a%c FHaE

4. Digital Subscriber Line / f&STce] TouhTSeR 1S+

Correct Answer :-

« Cable Internet Connection / P 3??3!3 HAI

(33)



9) is a computer program or software agent that receives e-mail messages from an e-mail
client and cooperates with a mail relay for delivery of the mail. / m S{Ydr
AT dR Tuie § ol T A FATse 9 §- ﬁaﬁﬁmmm%eﬁvﬁﬁﬁ%ﬁaﬁ%mﬁaﬁﬁ%
HTY BI-3TIRE BT 51

1. Mail Submission Agent (MSA) / Hd MR Toic(MSA)

2. Mail User Agent (MUA) / Bd JoR TSic(MUA)

3. Message Transfer Agent (MTA) / =pey QIH Y H\ﬁ'd (MTA)

4. Message Delivery Agent (MDA) / e feferas] Q@E(MDA)

Correct Answer :-

e Mail Submission Agent (MSA)/ T o= Q@.E(MSA)

10) is a cross-platform Java compliant web server designed for medium and large
business applications, and was previously called Sun Java System Web Server. / HYeOH 3R

IS ARG VAN ¥ g fEwrs frar a1 pro-wiewTH SraT Siate 39 93 ¢, o ugat
T 14T R H 49 o HgT ST ATl

1. Google Web Server / 1[Td] 9 IR
2. Apache HTTP Server / U HTTP a%

3. Internet Information Server / 33?313 Wﬁﬁ'ﬁgﬁ?
4. Oracle iPlanet Web Server / 3R a Gﬂé:-@ﬁ?aaﬂa%

Correct Answer :-

« Oracle iPlanet Web Server / 3R d Hﬁ-@ﬁ?aﬂw

Topic:- Programming Language

1) A user defined data type in C which is mainly used to assign names to integral constants to make a

program easy to read and maintain is called ./C ﬁww%m%aagqﬁww
wﬁwqﬁwmﬁuﬁamam&mﬁmmﬁ%ﬁmwﬁ%maﬁmaﬂaﬁa
TP U fraaae,_ wgamrgl

1. Enum / UH
2. Typedef/ TRUSH

3. Structure / IR

4. Union / Eﬁl’cﬂ

(34)



Correct Answer :-

¢ Enum/UqYH

2) Which of the following is a control statement that allows a variable to be tested for equality against a
series of different cases and changes control of execution more efficiently? /FEE Udh E@H

et rm® e &9 a1 8 o el INTgaER) #t fafi= &4 @1 e & g gumar s
ﬁqé&;mﬁﬁgﬁwmm%awqﬁﬂqﬁ%mﬁ 3w I & a1 ufkafda
PIAT8?

1. Switch ... Case statement
2. While loop
3. Do .... While loop

4, If... else statement

Correct Answer :-
+ Switch ... Case statement

3) Which of the following is a logical operator that returns a Boolean value true if both the operands are

non-zero? / AT AT TS TT 181 & af 19 H A B AT wiiloreper STUReT W) giera= | a1 22
1. +=
2, ==
3.>>

4. &&

Correct Answer :-

4) Which of the following is used to write a character into a file? / it wIgd s ?5‘1‘5‘ SR INECEE:D
o o o 9 fpaeT Sy s smar 82

1. Putchar()
2. Puts()
3. Putc()

4. Fputs()

Correct Answer :-

(35)



* Putc()

5) Which of the following is TRUE for malloc()? / T9H § & malloc() ¥ IR H B9 AT HYT T4 82

1. Malloc() deallocates the old objects and returns pointer to new object / Malloc() QTI:F[ aﬁ\ﬁ Pl fSdldbe
AT § 3R UTSeR ! 70t 9% o 3R Aerar g

2. Malloc() takes 2 arguments — Number of blocks to be allocated and size of blocks / Malloc() al GTP?}I'Q\W

AT & — Tdidhe fhT S aTal Salay P ST T AT BT STHR

3. Malloc() does not initialise the memory and contains garbage values / Malloc() TR Bl SEINURIES) ol
o ~_ A .
HRA & AR ST T I Bl &

4. Malloc() does not return any value after successful initialisation / Malloc() el 3Iﬁl§lqa|3@, TH & 9IG

s deg 109 -Tg] BT &

Correct Answer :-

» Malloc() does not initialise the memory and contains garbage values / Malloc() AR &l 3‘3@ BNIEN! :IgT

6) Which of the following is a file handling function which is used to find the end of file? / faddeN

T HaRM et wiga & oid ¥ ugaH & fore swaura fhar oM a1 wisa gsfelT BarM 82
1. fseek()

2. remove()

3. fflush()

4. feof()

Correct Answer :-

. feof()

7) What happens during the pre-processing phase in a build process of a source code (<filename>.c) file?

/A Bie (<filename>.c) th—lgﬁa? oo wIew § WUy by %aTHERTIT Eﬁ?ﬂ%"

1. Pre-processing removes comments and expands header files and macros. / o m P! ey ot %’
3R FSX BIE 3R HebIol T AR P &l &

2. Pre-processing links function calls with their definitions. / T-OraRiT feiaq e o=t aRymwrsil & ary
PI FRAT B

3. Code is converted to assembly language. / P18 HISITARUT U H FUIdRd g1 STl %l
4. There is no pre-processing stage. / SO0 DIg W-UNRT S 781 gl

Correct Answer :-
(36)



» Pre-processing removes comments and expands header files and macros. / UI-UIHIHIT hHCYH DI THCT adl &

TSR BIEey 3R AP BT TR B A B

8) Memory allocation function that is used to allocate multiple blocks of memory, initialised to zero,
during runtime pointing to the first byte of allocated memory is called ./ 98 U} TAlH R
TR RRTPT STUNT IeTSH ¥ IR T § SFRmuesss, 39 & oM <ii®] & Tatbe B
%m%mm%ﬁl’rqﬁﬁsﬁﬁﬂ%Waﬁaﬁmmé, Pgaa gl

1. Malloc()
2. Realloc()
3. Calloc()

4. Dealloc()

Correct Answer :-
» Calloc()

9) A variable defined within a function or block belongs to storage class if no storage class is
mentioned. The scope is local and life is within the function only. / TI'% f<ht R-ﬁﬁ CHIGIKED) m :l_Eﬁ
8 I fondlt o a1 st & ftar ufvunfta afvgea TR FATH & &fd g1 8 1 Whiy
AIHd BT § 3R A3P Had Bav P W gt 3|

1. External / Q_CR:IE:TFT

2. Automatic / 3icHfcH
3. Static / ®fed

4. Register / TR

Correct Answer :-

¢ Automatic/ 3ffcrafes

10) A variable whose value is the address of another variable, i.e., direct address of the memory location

is called a . T DT AR FIRTeT Wi T 31 ARTad 1 U39 €T 2, SeTev0 &
g, AR PR P SO T H (Uit ua), A e |

1. Pointer / q”ls'az
2. Double Pointer / S9¢ CI”?;EQ
3. Parameter / awﬁlaz

4. Addressof/ Qgﬂ\ﬁ?ﬁ

Correct Answer :-
(37)






